do/dAg [pb]

Ratio to ATLAS

10

[EEY

0.5

13000 GeV pp
[~ T

Z+

Jgt

Aq() (p, > 30 GeV, |y| < 2.5, m> 40 GeV)

Rivet 3.1.10, = 2.4M events

. m  ATLAS ]
—  --8-- Pythia 6.428 391 —
- % Pythia6.428 393 |
L -®-- Pythia 6.428 394 —
- ---¥-- Pythia 6.428 395 —
— . ]
u
n
u
— u =
- . " /j -
- _ = . gi¥ |
[ | H _ - = e
_ m 3%\ g A %L‘i‘%’ ' i : _
1 | | | | | | | | | | | | -
= ' ' ' | ' ' ' ' | ' ' ' ' [
| i - -{‘,: _
- - = ,I"J'}'sf oL /‘/ f'\— ]
B ¥‘$ ’ , ‘%’/’Q— B %l\ % *4} |
I AL : L A i
% E X 6 EI—‘ : % \f$| ‘_‘?;—\_.__ ‘

L $\\¢f - - r\_ N \\ '\\\. 1 ]
L. . . . | . . Y \%\ L L

0 1 2 3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

Ag@(leading, second jet)



	Contents
	Page 1


